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1. ILY is distributed N(2,4), find P(1<Y<4). (1)
A) o(4)-o(1)

B) &(1) - ¢(-0.5)

C) &(2) - o(-1)

D)1-a&(1)

2. With i.i.d. sampling each of the following is true except (2)
A)EX) = 1.

B) var(¥) = o/n.

C)E) <E().

D) 7 is arandom variable.

3. If a fair 6-sided die is rolled, the expected value of the number rolled is (3)
A)3

B)3.5

C)4

D) 1/6

4. To standardize a variable you _(4)

A) subtract its mean and divide by its standard deviation.

B) integrate the area below two points under the normal distribution.
C) add and subtract 1.96 times the standard deviation to the variable.
D) divide it by its standard deviation, as long as its mean is 1.
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10. Let Y, <Y, <Y, be the order statistics of a random sample of size n=3 from the exponential
distribution with pdf f(x)=¢ *,0<x <o

(1) Compute the probability that Y, is less than two? (13)

(2) Determine (Y, >1) (14)
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12. The following table shows the expected returns from investing in assets A and B under two
possible scenarios (S=1 and S=2), as well as the probabilities of each scenario occurring.

S=1 (Prob=1/3) | S=2 (Prob=2/3)

Asset A 18% -3%
Asset B 30% 0%

(1) Compute the expected return of a portfolio with 50% invested in each asset. The risk-free rate of

return is equal to 2%. (16)
(2) Compute the expected return of a portfolio with 30% invested in asset A, 40% invested in
asset B and the remainder invested in the risk-free asset. (17)
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